FyBtem — 690 .

: - Maths
[Time: 3 Hours]

Please check whether you have got the right question pabér
All questions are compulsory. )
Figures to the right indicates marks allotted
Graph papers will be provided on request. .
Use of simple non-programmable calculator is

N.B:

Ll el

Section - I

Q.1 Attempt Any Four from the following:

A) If the market price of a share with face value Rs.10;
can be bought for Rs.3263 , brokerage being 0.4

B) Smooth Writing Industry issued some shares 6f face ‘edch. A dividend of Rs..7 v‘i/\)/és [05]
declared by the company at 2.5% per shas ‘ ' |

C) Neil purchased 1200 units of a mutual fand by i
NAV on the date of purchase. o

Rs.3 per unit was given on 20-
was Rs. 16.85. Find his gai

erwhich he 5 would invest Rs. 15000 for 5 [05]
47,Rs.475and Rs. 60, find the average '
2.5% throughout for these months.

months. If the NAVs ‘férf,ea
cost using Rupee costave

[05]

[05]

[05]

nduces two types of crackers, rockets and bombs packed in boxes of [05]
es.Factory I performs the basic assembly operation. Factory Il performs
orifinancial reason, Factory I has only 180 hours available per week and
ol vailable. Factory I needs 3 hours on each box of rockets and 10 hours on
 Factory Il needs 6 hours on box of rockets and 4 hours on box of bombs. v
ompany is Rs.45 per box of rockets and Rs.55 per box of bombs.

to'maximize the profit.
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QIPI code: 943}6 %

SECTION- 11

Q.3 Attempt Any Four from the following: AU
A) Find the median and the fifth decile for the following freg uency distribution; >« -

Class Interval 5-10 15-20 25-30
frequency 16 14 13

B} Write merits and demerits of mean and mode.

C) Draw a histogram and hence locate the mode graphicéﬁy‘yfré% the followmgdls‘trlbu ion of mark

Marks 20-30 30-40 40-50 50-60
No. of students 11 15 24
D) From the following frequency distribution, eal standard devatlon [05]
| X | 5 | & 7 8 .
L frequency l 3 J 7 4 2
E) For the following data, find the contbined mean. Also find which as'more variation. [05]
Group I Group II
Number of articles 70 90
Mean 75 87
[ Vartane |45 49 ]
A) Define the followi;r’i‘g'v erms. "b‘ [05]
i) Complementary event'
Two unbiased diceare thrown, Find th [05]
i) Numﬁei“'dh'fir;s"t die is less than nuim
i) Sum of numberson the two dice is 8.
P(ANB) [05]
shows é‘i;ltj%ﬁr‘idgatﬁili}ty"Bistzéfﬁutlon of a Random Variable X. [05]
-1 0 1 2 3
0.25 0.25 0.2 0.2
F ourcards ar to .a p-a;ck of well shuffled 52 playing cards. Find the probability [05]
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A) For the following pay off table, suggest the best decision by using, -

i) Maximax criterion ii) Maximin criterion

Q.5 Attempt Any Four from the following:

iif) Laplace criter:

nature SI S2
action
Al 57 24 37 50
A2 24 28 32 13
A3 12

B) Draw a decision tree for the following decisi [05]
nature St "
action
Al
A2
Probability

C) Define the following along with'e ‘
i) Acts S

iif) States of Nature

[05]

D} The following is demand distril Ce] . .
No. of units demanded 10 11 12
probability 0.35 0.40 0.25

[05]

The product is sold
decide the best dec

hod [05]
S3

10
16
14
0.3
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